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Q.1. 1 & T forg gfur 2RI Fiehd AT BT © 2
a. gHae guol
b. 3Tt g4l
C. 3TAqA YT
d. T A9t
Which of the following mirror has positive focus?
a.plane mirror
b. convex mirror

C. concave mirror
d. All of these

Q.2. T 1 SIATIH € -
a. TR
b.dre
C. ¥
d. aiee
The SI unit of work
a. ampere
b. Watt
c. joule

d. Voltage




Q.3. Fore &1 o1 e e arfere e €2
a. ofledl
b. =it
c. dret
d. s
Which color has longer wavelength?
a. red
b. Blue
c. yellow

d. orange

Q. 4. Tk T ST AR FAT© 2
a. et
b. dlee

C. el
d. TRRR
What is the SI unit of power?
a. joule
b. Voltage
c. coulomb

d. ampere




Q.5. TTHI ETad e g -
a. 3fq: |E U g
b. sfeatal i o
c. Al Ata |
d. TR I FE T
Hormone secreted by -
a. endocrine gland
b. from the exocrine gland
c. from ductal gland

d. None of these

Q.6. =TYeT e ST TR T FTR 2

a. FeSO4 .7H20

b. CuSO4 .5H20

c. ZnS04 .7H20

d. CaSO4 .2H20
What is the chemical formula of blue vitriol ?
a. FeSO4 .7H20

b. CuS0O4 .5H20

C. ZnS04 .7H20

d. CaSO4 .2H20




Q.7. ST 7t o G-
a. NH
b. NH2
c. NH3
d. NH4
Formula of ammonia gas-
a. NH
b. NH2
c. NH3
d. NH4

Q.8. 378 Y i Taryd ol Rl WehTeT Soif & ST hidl &2
a. faga aew
b. §leX
c. e
d. gt

Which of the following converts electrical energy into light
energy?

a. electric bulb

b. heater

c. Motor

d. dynamo




Q.9. il AT STET T TE ey 3 faraiiar g e st shi-T STgadH T
FEAT © 2
a. TecaTgaa
b. STeTeraA
C. TR
d. TR Y HE T
The growth of plant roots against gravity is called traconic motion?
a. gravitation
b. hydrotropism
c. phototropism

d. None of these

Q.10. BTZEIS o &1 URATY[AT o aiiel fehc STTaiegr s @ 2
a. T JATEY
b. fg-smmay
c. Pr-ameiy
d. T Y FE AN
How many bonds are formed between two hydrogen atoms?
a.abond
b. double bond
c. triple bond
d. None of these




Q.11. =1 H § hI-91 STHJH SISSIhE ¢ °
a.CH,
b. C:He
c. C:H,
d. T A9t
Which of the following is an unsaturated hydrocarbon?
a.CH,
b. C;Hs
c. C;H,
d. Y g

Q.12. e =1 T S B -
a. 28

b. 79
C.26

d. 53
The atomic number of nickel is-
a.28

b. 79
C. 26

d.53




Q.13. -1 19 TIURI 19 I FEeATaT € 2
a. A Y
b. A g
C. 3T Ud IqeA 19 S 1
d. T A HIE TR

Which lens is also called diverging lens?

a. concave lens
b. convex lens
c. both concave and convex lenses

d. None of these

Q.14. STYTeh TTE o [-AH ohl TS [ohd- 3l T2
a. Heell® |
b. " gl 7
C. e A
d. eigg
Who discovered the law of modern period?
a. in mendeleev
b. mosley
c. dobereiner

d. by newlands




Q.15. faYa At a1 SI AT ST 2
a. aee
b. 31H
c. TR
d. T
What is the SI unit of electric charge?
a. Voltage
b.Om
C. ampere

d. coulomb

Q.16. Tl — T YT HHL 3 ATIHT U AT STAET H YT ST @ 2
a. Hg
b. Br
c.S
d. Na
Which metal is found in liquid state at room temperature?
a. Hg
b. Br
c.S
d. Na




Q.17. B A A FR i w2 2
2. gee 7%
b. T3 T
c. IUaT g9
d. e g
Which of the following is a unisexual flower?
a. hibiscus flower
b. mustard flower
c. papaya flower

d. rose flower

Q.18. S Id ST §RT [ohd Yok Shl ATS2ISTHI UaTe (SFeRT) T Scdsi
TaAR?

a. It

b. ik 3

c. AT

d. Y o

Which type of nitrogenous matter (waste) is excreted by
living organisms?

a.ammonia

b. uric acid

C.urea

d. all of these




Q.19. Teeht 3 Trew 1 A Frata e 3 2
a. gemTs
b. afaTiehT
C. WY
d. ¥ (3P vem)
Who controls the size of the pupil?
a. paroxysmal
b. iris
c. ocular lens

d. retina

Q.20. FETerea # Torg Torera a1 I ST ohl Hoha! st o fort T
STare ?

a. Ca(HCO3)2

b.Ca(OH)2

c. Na(OH)

d. Na(HCO3)

Which of the following solution is used for whitewashing of walls?

a. Ca(HCO3)2
b. Ca(OH)2
c. Na(OH)

d. Na(HCO3)




Q.21. 1897 Na,CO; 1 STei1d fareta st pH ® -
a.7
b. 79 3Tigm
c.79FH
d. = Y s TR
The pH of an aqueous solution of salt Na,CO; is —
a.7
b. over 7
C.less than 7

d. None of these

Q.22. UTEY & SITEeTH ITRETN & -
a. Slcd ohl dg-d
b. IS &1 UrEA
C. 3T 3T o1 aeA
d. 3TeRITST a1 a8
In plant xylem is responsible for -
a. water transport
b. digestion of food
C. carrying amino acids

d. carrying oxygen




Q.23. Ti--J1 UTEY TTHIA ufer 3 HeeT o folg STl @ 2
a. 3TTersti
b. GTEERIEHA
c. UisHTeh 377
d. [Sreeitfe
Which plant hormone is responsible for wilting of leaves?
a. oxine
b. cytokinins
c. abscisic acid

d. gibberellins

Q.24. 3MYTTeh 3TTad AU § fohd 3ud WA € -
a.7
b.9
c.15
d.18
How many vertical columns are there in the modern periodic
table?
a.7
b.9
c.15
d.18




Q.25. i & e o s T g e -
a. XY
b. XX
c.YY
d. = ¥ gt
The pair of sex chromosomes in females is -
a. XY
b. XX
c.YY
d. all of these

Q.26. JTAHRUT & T [AEd URTY & fagd 91 &1 71 -
a. Igd FH T AT S
b. uftarfea el g 8
C.dgd afwaaw%
d. 38 ¥ I TR
The value of current in the electric circuit at the time of overloading
a. very low
b. does not convert
c. rises too much

d. None of these




Q.27. fr=1 # ¥ T gefor = ST wrse e & ferg fera st € 2
a. gHae guol
b. 3Tt g4l
C. 3TAqA YT
d. T A9t
Which of the following mirror use as a side mirror?
a. plane mirror
b. convex mirror

C. concave mirror
d. all of these

Q.28. B2 =T R — | T Txh TATH hl Ukl B HEG AT € 2
a. eITYehT
b. TATSHT
C. &iEeied
d. T A IS TR
Which organ of blood helps to stop bleeding?
a.lymph
b. plasma
c. platelets
d. None of these




Q.29. GG fohd T4 Tl STel UEUT STALAT R 2
a. foer
b. afreTg
C. hT
d. st
Surangam is the water harvesting system of which state?
a. Bihar
b.Tamil Nadu
c. Kerala

d. Karnataka

Q.30. BT 1 YA Toha T BIaT € -
a.1.33
b. 2.12
C.1.84
d. 2.42
The reflective index of diamond -
a.1.33
b.2.12
C.1.84
d.2.42




